January 23, 2024 UYSIPOU FRED 20 FIREFLY ST. V

20 FIREFLY ST. VALLE VERDE 6 PASIG CITY

Contact no Email address

MODEL Qty
KLG-IF70-5G1M32 3
KSG-IWF-30WFY8K1M32 2
KSG-IWF-25WFY8K1M32 4
KSG-IWF-20WFY8K1M32 3
KSG-IWF-15WFY8K1M32 1
KSG-IWF-10WFY8K1M32 1

DINING	/LIVING/KITCHEN				Area	176 sqm
ACU 1	7.0 HP Floor Standing Inverter	•	KLG-IF7	'0-5G1M32		
	1 9	39 ft				
	Estimated Royal Cord Length =	46 ft				
	Initial Charge					₱ 14,000.00
	Includes:					
	Labor					
	10ft Copper Tube					
	10ft Royal Cord					
	Indoor Bracket (FLOOR)					
	Consumables					
	Installation Materials	Description	Qty	Price per qty	Subtotal	
	Copper Tube	Ø 3/8" x Ø 5/8"	29 ft	₱ 400.00/ft	₱ 11,600.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	36 ft		<b>₱</b> 3,600.00	
	Royal Cord (ACCU-Breaker)	5.5mm x 3c	4 ft	₱ 70.00/ft	₱ 280.00	
	Circuit Breaker waterproof	40 A	1 pc/s	₱ 1,000.00/pc	₱ 1,000.00	
	Outdoor bracket	Fab. wall w/ledge	1 pc/s	, , , , , , , , , , , , , , , , , , ,	<b>₱</b> 6,500.00	
	Chipping Works		3 mtr		₱ 1,500.00	
	Drain Hose	White -1/2"	7 ft	₱ 25.00/ft	₱ 175.00	₱ 24,655.00
	Estimated Charges					₱ 38,655.00
ACU 2	·		KLG-IF7	'0-5G1M32		
	1 9	56 ft				
	Estimated Royal Cord Length =	63 ft				
	Initial Charge					₱ 14,000.00
	Includes:					
	Labor					
	10ft Copper Tube					
	10ft Royal Cord					
	Indoor Bracket (FLOOR)					
	Consumables					
	Installation Materials	Description	Qty	Price per qty	Subtotal	
	Copper Tube	Ø 3/8" x Ø 5/8"	46 ft		₱ 18,400.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	53 ft		<b>₱</b> 5,300.00	
	Royal Cord (ACCU-Breaker)	5.5mm x 3c	4 ft		₱ 280.00	
	Circuit Breaker waterproof	40 A	1 pc/s	•	₱ 1,000.00	
	Outdoor bracket	Fab. wall w/ledge	1 pc/s	, , , , , , , , , , , , , , , , , , ,	<b>₱</b> 6,500.00	
	Chipping Works		3 mtr		₱ 1,500.00	
	Drain Hose	White -1/2"	7 ft	₱ 25.00/ft	₱ 175.00	₱ 33,155.00
	Estimated Charges					₱ 47,155.00

```
ACU 3 7.0 HP Floor Standing Inverter
         Estimated Pipe Length
         Estimated Royal Cord Length = 73 ft
                                                                                                         ₱ 14,000.00
         Initial Charge
           Includes:
              Labor
               10ft Copper Tube
               10ft Royal Cord
              Indoor Bracket (FLOOR)
              Consumables
         Installation Materials
                                        Description
                                                                Qty Price per qty
                                                                                         Subtotal
         Copper Tube
                                        Ø 3/8" x Ø 5/8"
                                                               56 ft ₱
                                                                          400.00/ft
                                                                                         ₱ 22,400.00
                                                               63 ft ₱
                                                                          100.00/ft
                                                                                            6,300.00
         Royal Cord (comm. wire)
                                        2.mm2 x 4C
         Royal Cord (ACCU-Breaker)
                                        5.5mm x 3c
                                                                4 ft ₱
                                                                          70.00/ft
                                                                                            280.00
         Rubber Insulation
                                        2 1/8" x 3/4" x 6'
                                                              8 pc/s ₱
                                                                          350.00/pc
                                                                                         ₱
                                                                                            2.800.00
         Circuit Breaker waterproof
                                                              1 pc/s ₱
                                                                                         ₱
                                        40 A
                                                                          1,000.00/pc
                                                                                            1,000.00
         Outdoor bracket
                                        Fab. wall w/ledge
                                                              1 pc/s ₱
                                                                          6,500.00/pc
                                                                                            6,500.00
         Chipping Works
                                                               3 mtr ₱
                                                                          500.00/mtr
                                                                                            1,500.00
                                                                7 ft ₱
         Drain Hose
                                        White -1/2"
                                                                          25.00/ft
                                                                                                         ₱ 40,955.00
                                                                                            175.00
        Estimated Charges
                                                                                                              54,955.00
PWDR
                                                                                              Area
ACU 4 1.0 HP Wall Mounted Inverter
                                                             KSG-IWF-10WFY8K1M32
         Estimated Pipe Length
                                     = 66 \text{ ft}
         Estimated Royal Cord Length = 71 ft
         Initial Charge
                                                                                                         ₱ 4,500.00
           Includes:
              Labor
               10ft Copper Tube
               10ft Royal Cord
               Outdoor Bracket (Wall)
               Consumables
         Installation Materials
                                        Description
                                                                Qty Price per qty
                                                                                         Subtotal
         Copper Tube
                                        Ø 1/4" x Ø 3/8"
                                                               56 ft ₱
                                                                          350.00/ft
                                                                                         ₱ 19,600.00
         Royal Cord (comm. wire)
                                        2.mm2 x 4C
                                                               61 ft ₱
                                                                          100.00/ft
                                                                                            6.100.00
         Royal Cord (ACCU-Breaker)
                                        3.5mm x 3c
                                                                5 ft ₱
                                                                          60.00/ft
                                                                                            300.00
         Circuit Breaker waterproof
                                        20 A
                                                              1 pc/s ₱
                                                                          1,000.00/pc
                                                                                            1,000.00
         Rubber Insulation
                                        2 1/8" x 3/4" x 6'
                                                              3 pc/s ₱
                                                                          350.00/pc
                                                                                            1.050.00
         Chipping Works
                                                               1 mtr ₱
                                                                          500.00/mtr
                                                                                         ₱
                                                                                            500.00
         Outdoor bracket
                                        Fab. wall w/ledge
                                                              1 pc/s ₱
                                                                                            6,500.00
                                                                          6,500.00/pc
         Full thread
                                        3/8" x 10'
                                                              2 pc/s ₱
                                                                          150.00/pc
                                                                                            300.00
                                                              5 pc/s ₱
         Metal Clamp
                                        3"
                                                                          120.00/pc
                                                                                            600.00
                                                                5 ft ₱
         Drain Hose
                                        White -1/2"
                                                                          25.00/ft
                                                                                            125.00
                                                                                                         ₱ 36,075.00
        Estimated Charges
                                                                                                              40,575.00
GYM
                                                                                              Area
         2.0 HP Wall Mounted Inverter
                                                             KSG-IWF-20WFY8K1M32
ACU 5
         Estimated Pipe Length
         Estimated Royal Cord Length = 57 ft
                                                                                                         ₱ 4,500.00
         Initial Charge
           Includes:
              Labor
               10ft Copper Tube
               10ft Royal Cord
               Outdoor Bracket (Wall)
               Consumables
         Installation Materials
                                        Description
                                                                Qty Price per gty
                                                                                         Subtotal
                                        Ø 1/4" x Ø 1/2"
                                                                                            14,000.00
         Copper Tube
                                                               40 ft ₱
                                                                          350.00/ft
         Royal Cord (comm. wire)
                                        2.mm2 x 4C
                                                               47 ft ₱
                                                                          100.00/ft
                                                                                            4.700.00
         Royal Cord (ACCU-Breaker)
                                        3.5mm x 3c
                                                                4 ft ₱
                                                                          60.00/ft
                                                                                            240.00
         Circuit Breaker waterproof
                                        20 A
                                                              1 pc/s ₱
                                                                          1,000.00/pc
                                                                                         ₱ 1,000.00
                                                              3 pc/s ₱
         Rubber Insulation
                                        2 1/8" x 3/4" x 6'
                                                                                         ₽
                                                                                            1,050.00
                                                                          350.00/pc
         Full thread
                                        3/8" x 10'
                                                              1 pc/s ₱
                                                                          150.00/pc
                                                                                         ₽
                                                                                            150.00
         Metal Clamp
                                        3"
                                                              2 pc/s ₱
                                                                          120.00/pc
                                                                                         ₱
                                                                                            240.00
                                                                  ft ₱
                                        White -1/2"
                                                                          25.00/ft
         Drain Hose
                                                                                            0.00
                                                                                                         ₱ 21,380.00
        Estimated Charges
                                                                                                             25,880.00
```

KLG-IF70-5G1M32

MASTE	R BEDROOM			Area	44 sqm
ACU 6	2.5 HP Wall Mounted Inverter		KSG-IWF-25WFY8K1M32		-1
	Estimated Pipe Length =	61 ft			
	Estimated Royal Cord Length =	68 ft			
	Initial Charge				<b>₱</b> 5,500.00
	Includes:				
	Labor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (FLOOR)				
	Consumables		o	0.14.4.1	
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube Royal Cord (comm. wire)	Ø 1/4" x Ø 5/8" 2.mm2 x 4C	51 ft ₱ 400.00/ft 58 ft ₱ 100.00/ft	₱ 20,400.00 ₱ 5,800.00	
	Royal Cord (Cornini. Wile) Royal Cord (ACCU-Breaker)	3.5mm x 3c	4 ft ₱ 60.00/ft	P 240.00	
	Circuit Breaker waterproof	40 A	1 pc/s ₱ 1,000.00/pc	₱ 1,000.00	
	Rubber Insulation	2 1/8" x 3/4" x 6'	6 pc/s ₱ 350.00/pc	₱ 2,100.00	
	Full thread	3/8" x 10'	2 pc/s ₱ 150.00/pc	₱ 300.00	
	Metal Clamp	3"	5 pc/s ₱ 120.00/pc	₱ 600.00	
	Chipping Works		1 mtr ₱ 500.00/mtr	₱ 500.00	
	Drain Hose	White -1/2"	7 ft ₱ 25.00/ft	₱ 175.00	₱ 31,115.00
0	Estimated Charges				₱ 36,615.00
GUEST ACIL 7	2.0 HP Wall Mounted Inverter		KSG-IWF-20WFY8K1M32	Area	19.6 sqm
ACU 7		50 ft	NOG-IVVE-ZUVVEYOK7M32		
	Estimated Royal Cord Length =				
	Initial Charge	07 10			₱ 4,500.00
	Includes:				,000.00
	Labor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (WALL)				
	Consumables				
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 1/2"	40 ft ₱ 350.00/ft	₱ 14,000.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	47 ft ₱ 100.00/ft	₱ 4,700.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	4 ft ₱ 60.00/ft	₱ 240.00	
	Circuit Breaker waterproof Rubber Insulation	30 A 2 1/8" x 3/4" x 6'	1 pc/s ₱ 1,000.00/pc 5 pc/s ₱ 350.00/pc	₱ 1,000.00 ₱ 1,750.00	
	Rubber Insulation	1 1/8" x 3/8" x 6'	pc/s ₱ 150.00/pc	P 0.00	
	Full thread	3/8" x 10'	1 pc/s ₱ 150.00/pc	₱ 150.00	
	Metal Clamp	3"	2 pc/s ₱ 120.00/pc	₱ 240.00	
	Chipping Works		1 mtr ₱ 500.00/mtr	₱ 500.00	
	Drain Hose	White -1/2"	7 ft ₱ 25.00/ft	₱ 175.00	₱ 22,755.00
DED 00	Estimated Charges				₱ 27,255.00
BEDRO			KOO IIAE OOMEWOKANOO	Area	19.6 sqm
ACU 8	3.0 HP Wall Mounted Inverter Estimated Pipe Length =	36 ft	KSG-IWF-30WFY8K1M32		
	Estimated Royal Cord Length =				
	Initial Charge	70 IL			₱ 5,500.00
	Includes:				. 0,000.00
	Labor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (WALL)				
	Consumables				
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 5/8"	26 ft ₱ 350.00/ft	₱ 9,100.00	
	Royal Cord (Comm. wire)	2.mm2 x 4C	33 ft ₱ 100.00/ft	₱ 3,300.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c 30 A	4 ft ₱ 60.00/ft	₱ 240.00 ₱ 1,000.00	
	Circuit Breaker waterproof Rubber Insulation	30 A 2 1/8" x 3/4" x 6'	1 pc/s ₱ 1,000.00/pc 3 pc/s ₱ 350.00/pc	₱ 1,000.00 ₱ 1,050.00	
	Full thread	3/8" x 10'	2 pc/s ₱ 150.00/pc	P 1,050.00 ₱ 300.00	
	Metal Clamp	3"	3 pc/s ₱ 120.00/pc	₱ 360.00	
	Chipping Works	-	4 mtr ₱ 500.00/mtr	₱ 2,000.00	
	Drain Hose	White -1/2"	7 ft ₱ 25.00/ft	₱ 175.00	₱ 17,525.00
	Estimated Charges				₱ 23,025.00
		<u> </u>			

A CILL C	2.5 UD Well Meyerted Importor		VOC IIVE OFILIENOISTE	Area	27.75 sqm
	2.5 HP Wall Mounted Inverter	45 ft	KSG-IWF-25WFY8K1M32		
	1 3	45 ft			
	Estimated Royal Cord Length =	52 II			₱ 5 500 00
	Initial Charge Includes:				<b>₱</b> 5,500.00
	Labor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (WALL)				
	Consumables				
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 5/8"	35 ft ₱ 400.00/ft	₱ 14,000.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	42 ft ₱ 100.00/ft	₱ 4,200.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	4 ft ₱ 60.00/ft	₱ 240.00	
	Circuit Breaker waterproof	30 A	1 pc/s ₱ 1,000.00/pc	₱ 1,000.00	
	Rubber Insulation	2 1/8" x 3/4" x 6'	4 pc/s ₱ 350.00/pc	<b>₱</b> 1,400.00	
	Rubber Insulation	1 1/8" x 3/8" x 6'	pc/s ₱ 150.00/pc	₱ 0.00	
	Full thread	3/8" x 10'	1 pc/s ₱ 150.00/pc	₱ 150.00	
	Metal Clamp	3"	4 pc/s ₱ 120.00/pc	₱ 480.00	
	Chipping Works		1 mtr ₱ 500.00/mtr	<b>₱</b> 500.00	
	Drain Hose	White -1/2"	7 ft ₱ 25.00/ft	₱ 175.00	₱ 22,145.00
Г	Estimated Charges				₱ 27,645.0
BEDROO	OM 2			Area	27.96 sqm
-	1.5 HP Wall Mounted Inverter		KSG-IWF-15WFY8K1M32		
	1 3	45 ft			
	Estimated Royal Cord Length =	52 ft			
	Initial Charge				<b>₱</b> 4,500.00
	Includes:				
	Labor				
	10ft Copper Tube				
	10ft Royal Cord Outdoor Bracket (WALL)				
	Consumables				
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 3/8"	35 ft ₱ 350.00/ft	₱ 12,250.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	42 ft ₱ 100.00/ft	₱ 4,200.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	4 ft ₱ 60.00/ft	₱ 240.00	
	Circuit Breaker waterproof	30 A	1 pc/s ₱ 1,000.00/pc	<b>₱</b> 1,000.00	
	Rubber Insulation	2 1/8" x 3/4" x 6'	4 pc/s ₱ 350.00/pc	₱ 1,400.00	
	Rubber Insulation	1 1/8" x 3/8" x 6'	pc/s ₱ 150.00/pc	₱ 0.00	
	Full thread	3/8" x 10'	1 pc/s ₱ 150.00/pc	₱ 150.00	
	Metal Clamp	3"	4 pc/s ₱ 120.00/pc	<b>₱</b> 480.00	
	Chipping Works		1 mtr ₱ 500.00/mtr	<b>₱</b> 500.00	
	Drain Hose	White -1/2"	7 ft ₱ 25.00/ft	₱ 175.00	<b>₱</b> 20,395.00
Г	Estimated Charges				₱ 24,895.00
BEDROC	OM 3			Area	41.37 sqm
_	3.0 HP Wall Mounted Inverter	00 5	KSG-IWF-30WFY8K1M32	-	
		20 ft			
	Estimated Royal Cord Length =	2/ π			<del></del>
	Initial Charge				₱ 11,000.00
	Includes: Labor				
	10ft Copper Tube				
	Tott Copper Tube				
	10ft Royal Cord				
	10ft Royal Cord Indoor Bracket (FLOOR)				
	Indoor Bracket (FLOOR)				
		Description	Qty Price per atv	Subtotal	
	Indoor Bracket (FLOOR) Consumables	Description Ø 1/4" x Ø 5/8"	Qty Price per qty 10 ft ₱ 400.00/ft	<b>Subtotal</b> ₱ 4,000.00	
	Indoor Bracket (FLOOR) Consumables Installation Materials	•			
	Indoor Bracket (FLOOR) Consumables Installation Materials Copper Tube	Ø 1/4" x Ø 5/8"	10 ft ₱ 400.00/ft	₱ 4,000.00	
	Indoor Bracket (FLOOR) Consumables Installation Materials Copper Tube Royal Cord (comm. wire)	Ø 1/4" x Ø 5/8" 2.mm2 x 4C	10 ft ₱ 400.00/ft 17 ft ₱ 100.00/ft	₱ 4,000.00 ₱ 1,700.00	
	Indoor Bracket (FLOOR) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof Outdoor bracket	Ø 1/4" x Ø 5/8" 2.mm2 x 4C 3.5mm x 3c 40 A Galvanize wall large	10 ft P 400.00/ft 17 ft P 100.00/ft 4 ft P 60.00/ft 1 pc/s P 1,000.00/pc 1 pc/s P 1,650.00/pc	₱ 4,000.00 ₱ 1,700.00 ₱ 240.00 ₱ 1,000.00 ₱ 1,650.00	
	Indoor Bracket (FLOOR) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof	Ø 1/4" x Ø 5/8" 2.mm2 x 4C 3.5mm x 3c 40 A	10 ft	₱ 4,000.00 ₱ 1,700.00 ₱ 240.00 ₱ 1,000.00	₱ 8,765.00

	OOR HALLWAY		1/00 III/E 051//E1/01/	Area	64 sqm
ACU 12	2.5 HP Wall Mounted Inverter	50 ft	KSG-IWF-25WFY8K1M32		
	. 6	52 ft			
	Estimated Royal Cord Length =	59 π			B = ==00.00
	Initial Charge Includes:				₱ 5,500.00
	I abor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (WALL)				
	Consumables				
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 5/8"	42 ft ₱ 400.00/ft	₱ 16,800.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	49 ft ₱ 100.00/ft	<b>₱</b> 4,900.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	4 ft ₱ 60.00/ft	<b>₱</b> 240.00	
	Rubber Insulation	2 1/8" x 3/4" x 6'	5 pc/s ₱ 350.00/pc	₱ 1,750.00	
	Full thread	3/8" x 10'	1 pc/s ₱ 150.00/pc	₱ 150.00	
	Metal Clamp	3"	4 pc/s ₱ 120.00/pc	₱ 480.00	
	Chipping Works	00.4	1 mtr ₱ 500.00/mtr	₱ 500.00	
	Circuit Breaker waterproof	30 A	1 pc/s ₱ 1,000.00/pc	₱ 1,000.00	B 05 005 00
	Drain Hose	White -1/2"	7 ft ₱ 25.00/ft	₱ 175.00	₱ 25,995.00
	Estimated Charges				₱ 31,495.0
CU 13	2.5 HP Wall Mounted Inverter		KSG-IWF-25WFY8K1M32		
	1 3	70 ft			
	Estimated Royal Cord Length =	// tt			B 550000
	Initial Charge				₱ 5,500.00
	Includes: Labor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (WALL)				
	Consumables				
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 5/8"	60 ft ₱ 400.00/ft	₱ 24,000.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	67 ft ₱ 100.00/ft	<b>₱</b> 6,700.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	4 ft ₱ 60.00/ft	₱ 240.00	
	Rubber Insulation	2 1/8" x 3/4" x 6'	8 pc/s ₱ 350.00/pc	<b>₱</b> 2,800.00	
	Full thread	3/8" x 10'	1 pc/s ₱ 150.00/pc	₱ 150.00	
	Metal Clamp	3"	4 pc/s ₱ 120.00/pc	₱ 480.00	
	Chipping Works	30 A	1 mtr ₱ 500.00/mtr	₱ 500.00 ₱ 1,000.00	
	Circuit Breaker waterproof Drain Hose	White -1/2"	1 pc/s ₱ 1,000.00/pc 7 ft ₱ 25.00/ft	P 1,000.00 ₱ 175.00	₱ 36,045.00
	Brain Flose	William 1/2	7 10 1 20.00/10	1 170.00	1 00,040.00
	Estimated Charges				₱ 41,545.0
	2.0 HP Wall Mounted Inverter		KSG-IWF-20WFY8K1M32	Area	18.72 sqm
.00 14		10 ft	NOC-IVII - ZOVVI TOXIIII OZ		
	Estimated Royal Cord Length =				
	Initial Charge				₱ 5,500.00
	Includes:				,
	Labor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (WALL)				
	Consumables	<b>.</b>	0	0.1	
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 1/2"	ft ₱ 400.00/ft	₱ 0.00	
	Poval Cord (comm ''''''')	2.mm2 x 4C	ft ₱ 100.00/ft	₱ 0.00 ₱ 240.00	
	Royal Cord (ACCLL-Breaker)	3.5mm v 3c		r 240.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	4 ft ₱ 60.00/ft		
	Royal Cord (ACCU-Breaker) Chipping Works		2 mtr ₱ 500.00/mtr	<b>₱</b> 1,000.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c 30 A White -1/2"			₱ 2,415.00
	Royal Cord (ACCU-Breaker) Chipping Works Circuit Breaker waterproof	30 A	2 mtr ₱ 500.00/mtr 1 pc/s ₱ 1,000.00/pc	₱ 1,000.00 ₱ 1,000.00	₱ 2,415.00

Validity: This quotation is valid for a period of fifteen (15) days from the date thereof, subject to our confirmation thereafter.

## Installation notes:

- 1 Location of indoor and outdoor units were Kolin's surveyor.For approval by customer.
- 2 If the customer approves quotation and location, meeting has to be set up to discuss layout of copper tube & placement of indoor & outdoor units.
- 3 Mechanical Plans, Permits, Electrical permits not included.
- 4 Deflectors, masonry, carpentry, chipping & plastering (finishing & restoration) are not included in the installation.
- 5 Air conditioning drain line and Electrical power supply (feeder line) 220v/ 60hz/ 1ph, should be provided by customer's contractor.
- 6 Final charges will be based on actual installation.

Prepared by:	Customer Conformee:		
Rodolfo dela Cruz Jr.			
Field Surveyor	Signature Over Printed Name		

Engr. Kenneth/Zamora Service Supervisor Shop and

Field Operation